Math 8

~mteger Practice Test
\ Name:

Date:

Part 1: Adding and Subtracting Integers (vou may use either a number line or tiles from the
front desk if you would like)

1. 5+(7)= 0. (2) —12=_—14

2. (-12)+15= 10.9-7+3=__ 5

3. (4)+3-10=_ 11.(-12) = (-14)+5=__ T
4 9-8+3=__ 4 12.(-4) +(-6)- 14=_—AY
5. (13)+5=_~ & 3. 12+(-6)-1=_ >

6. 10-(13)=_23 4.8+2-7=__ 5

7. (H-(H=_—3 15.(:5) - (-13)+5=_[3

8. 5—(N=__[e) 16.9-12+(14)=- —[ L

Part 2: Multiply and Dividing (vou may use the integer tiles if you would like)

The four rules are:

{
Positive x positive = { '*"}
Negative x negative=___ { +)
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ordiliding ndegers the answer iS5 Posihve
Negative x positive =__ (=) ~
Positive x negative=__(—)
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2. (5)3)=_15" - 5. (8)-100=__ B8O
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3. (-5)@2)=__~/O0 6. (-56)+~(-8)=__ 7




Part 3: Order of Operations

What is the order you tackle when solving a multi-operation expression? Which ones do you do at

the same time?

. (5+(3))+(-2)

A +-ZL
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2. 5-2+(8)(-4)

S =2 ™23

3. 9-2)3+4)

()P

E 4D

'«-—d‘( ~

4. (7+5-3)(4-10)
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5. (8-14)(8-12)
(634%0

6. (5+1—$(3+2—8)

E7)(-9)
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Part 4: Integer Word Problems: Make sure that you show your work! (diagram, equation,

answer

What is the change in temperature when you leave Penticton airport and it is (-15 °C) and you arrive

in Mazatlan and it is 38°C?

2 C) '?_,-, £, ’
53 1S [T Chonng o

v 716/%7&6@7/”6/0"



	doc03042220131011074246
	doc03042320131011074256

